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% Area of Trapezium (I1)
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Calculate according to the figures :
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Trapezium Area = (Upper Base + Lower Base) x Height + 2
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Upper base :_ 2 ( cm ) Upper base : 3 (M );
T & - TR ¢

Lower base : 4 ( ¢cm ); Lower base : 2 (M )
Heigm.: 4 ( cm )y Heigm.: 4 ¢ omoy;
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Area : (24+4)x4+2 Area @ (3+5)x4+2
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Upper base : ( m ); Upper base .9 ( mm ) ;
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Lower base : 12 ( mH; Lower base : 19 ( Mm )
Height : 12 ( m ); Height : 15 ( mm ) ;
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Arﬁ:<2+12>xl2+2 Arﬁ;(9+15>x10+2
- 84m? ~180mm?
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Complete the table :
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Upper Base( m) Lower Base,g cm) Height(cm) Area (cm®)
® 9 17 30 390
) 30 46 15 570 D
® 12 35 8 188 | Lo\ /
@ 18 33 18 459
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Calculate with solutions :
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6m 14m
19m
30m
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Area = (6+4+14)x15+2

Area = (5‘|‘19>X23—2

= 150m?

- 276m?

15cm 12cm

28cm

35cm
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A£§= (15435)x28=2

25cm

35cm

A
Agj: (25+35)x40+2

= 700cm?

= 1200cm?
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